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HIGH SPEED DRILL
HSD-V Big diameter Drill(Cartridge type)
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® Shank I1S09766, Parallel with clamping flat

»HSD-V 2XD CARTRIDGE TYPE
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HSD-V596520D S40 | 59-65 130 HSC-V5965N/T
HSD-V657020D S40 | 65-70 140 250 40 | 70 | WC.06T308 | TSB-35090 TXL-15 | HSC-V6570N/T
HSD-V707520D S40 | 70-75 150 260 HSC-V7075N/T
HSD-V758020D S40 | 75-80 160 270 HSC-V7580N/T

» HSD-V 3XD CARTRIDGE TYPE
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HSD-V596530D S40 | 59-65 195 HSC-V5965N/T
HSD-V657030D S40 | 65-70 210 320 40 | 70 | We.06T308 | TSB-35090 TXL-15 | HSC-V6570N/T
HSD-V707530D S40 | 70-75 225 335 HSC-V7075N/T
HSD-V758030D S40 | 75-80 240 350 HSC-V7580N/T

» HSD-V 4XD CARTRIDGE TYPE
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HSD-V596540D S40 | 59-65 HSC-V5965N/T
HSD-V657040D S40 | 65-70 280 390 40 | 70 | We.06T308 | TSB-35090 TXL-15 | HSC-V6570N/T
HSD-V707540D S40 | 70-75 300 410 HSC-V7075N/T
HSD-V758040D S40 | 75-80 320 430 HSC-V7580N/T

* HSD-V drill will be sold after HSD drill is sold out.
* HSD-V 7% S22, HSD 7% 52 Am AX 5 BojEct
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HIGH SPEED DRILL
The setting procedures for the big dia drill{Cartridage type)

Cutting part
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Clampimg bolt for Cartridge
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1) Loosen the clamping bolt of the outer cartridge and remove it from the drill body.
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2) Cut off the inside part, the contacted side of the outer cartridge by milling after calculating the drilling
diameter.
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3) Slick the sharp corner of the cut cartridge.
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Example

4) Adhere the cartridge closely to the drill body not happen gap and fix the cartridge with bolt tightly.
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If you set HSD-V707530D to @72
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The standard drill diameter is @75 so @75-@72 =3 => 3+2=1.5(calculation by semidiameter],
1.5mm is cut off.
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